ARRAY BRI ERS - P S - ZETBE - Eapd
PRS- $11-21 - & T B iz

- “EBH(EH4L > £ 404)
( )l ~zReExfk v §REYRO>POSERL > RFEEL T OR?

(A) (x+y) B) (x+y+5) k& (C) (x+y+10) # (D) 5xy &

( )2, AR e pF (Y +H3)BE0O AN (x—1)B L0~ > 8B L AR BB DB ARG FOR?
(A)10x + 50y + 148 (B)10x + 50y + 10 (C) 50x + 10y + 10 (D) 50x + 10y — 12

( )3, T AR e g H B 2 AR5\ {xthJ:])/:zS fE 9

(A)x=2>y=3 B)x=8y=6 Cx=6y=1 D)x=4>y=2

( Y4 TAIR A d o A E 2 AR {
(A) Ox2-@ (B) Ox2+®@ (C) ©—®@ %2 (D) ©+®x3

( ) 5. E”‘%ﬂ—‘l’\iF’x%%ﬁﬁ'—:iﬁi“;ﬁﬂﬁz%?a\i%’jﬁ TAEAB o yMEATESG L gt AHHF -
FRELTEEEY 52 RAK (60/’7 ) RIZEE A LB 58 4 0 #F 85 4 0 V- RPN Y
(A% - % B)% = % ’i O % = % D)%z %2

()6 = wPRAEdRTG F & gUN > 2 & X hfpiE 5 BE =K o 2y dhipsE7 BE =& QP BHL RS R ?
(A)(7,—5> B) (=7,5 (©)G,~-7) ([O)(=5,7)

( )7. #x=—-2>y=3%>#;\2x —ky =81- 2f% Pk = o
(A-4 ®)4 ©): (O)-:

()8 F ALETG + > T AV B2 A 7 FELE YRR BT ?
(A) (14,1) (B) (—5,300) (C)(—12,—-15) (D) (20,—90)

()9 B AHRNF R 4 NET 25245 Ay HEF £5 £ X106 0 & 370 2 > Bl
HERESB A~ Hp~? (A8 (B)6® (C)41 (D)2

( )10 Z=#&EFHFTF> 11004 52m4 PG * 3L EF [ MELAfE- e w3 AP EAAS 440
PRE-JCRIBRE G 5 A7 (A)24 (B)25 (C)26 (D) 27

S BAM(FRAA £ 40A)
FEERE T ERW
1. i*# 5y —3x+6—4(x—2y) = @» -

, Ao 3 ik 2 = - o X, TRy = o
2. fIm B if Ak {2x—3y=—17 ...... @ FOFEr@F TRy =@

3. Fx=2y=-3E - ~- 3 \mx+ny=7s- EfF> Pl 13-6m+9n=__ (O °

4, LT G 1 8C(a—3 b+2)aF - 2 BDGb+3 a—DEESER? @ -
3x—2y =26

5. :EJ.: i—:tgslﬁi’%ﬁi;\?{zx_l_ly:_l ﬁﬂﬁiﬁx:a;y:b,ﬂqa+bi@-‘;@? Q .
3 4 3




5 4
FRERE T 5EH = P
4o+ B > »#3, ABCD 5 E 6 e =35
Z""BQ»L ’fw‘ﬁ (4 _2) X
1~IF ‘? (:) (., () B
7. EEFEF FA3A RUKEBIAE 4> L3 EE A s 2FIREAE T e Pl B EFLT 4 5
f;")/(? : o
8. twm kAR AR B ez 4424 B fE o pFPEfe R A £ 13 4 R EPE R LY ESRS B 0 sfed (7
AL AR BxfRE 2 AR BydR e FARE FARA DR ARy Ao Plx4+ydhiE s 7 @)
9. /| & 23136 4~ & Jﬂ}iwﬂa_ FHEARA D 1 s 150 2> = A4 8 1imfe g 200 ~ > EEFRY 213 (T A
Fig=t &£ -1 2500 ~fEf% 4 bfrﬂﬂtﬁ?vﬁ"'*ﬂ'ﬁ& VEE ) ST A B A B R Bim? ()

10 FRRRERH G <A 2B A fE ~ 38 Ligfo] 4] 2 1#@*—15‘@“%\%?1—18 B e 4o vt 438 15 4 >

A B 27 §@0 - A R R 2 IRE A o F Aok 2 IRE Ii‘]ﬁﬂ}ﬁ?éi"—f—f%%")iﬁﬁ‘dé‘ AR 7?0
® @ ©)
ZoHFEI(FRR2A 5 84A)
AT g boa BRI T S e Bheniz B oo
A(5,—3)~B(—4,0)-C (2% 4).D(-2,-35)
14
+ » X
O] 1
P HAI(RFPEERTILL)(FHEA £ 124)
1L #x=-1>y=2 388 ax+by =10 & 2ax —3by = —10 iz > Rla—b =7
2. Rdk it G- BB FRBELBRI0A PR R IR IHENAR c FRB LB I0R 0 BB B PR TIEN2 12
£ 52 WE RS A R EG 50D

Grusd it 6w d]



